Efficiency vs P,

~ 0.8

o s : :

2 o : :

Y SRRRERHERRRR Do b

o o . :

c r : :

Q 0.6 Poeesneeeees D ARAAALEERRR AL

o o . :

E E : :

o 05___._-- """""" """""""""""""
]| SR A AR S
O S S SRR SO
I T S TN
0.9+ Faoooeeeee R

o+ : :

T i 5 :

o 1T .1111 _____________________________________

P

107 1 10 prT (Ge\})o3

[—— DQV_XIMINUS_ofgimnar_] IOWP

—e— DOQM_XiMinus_newbranch_lowpt

—— DQM_XiMinus_original_| IowFt pLess
—— DQM_XiMinus_newbranch_lowpt _pLess

= 05
[
20.45

>
e
g 04
(&)
£0.35
[J]

0.3
0.25
0.2
0.15
0.1
0.05
Vel

o fe s e e o B

Ratio

||uuuiu111111115111111111151111111miulllmuiuuul|

|||||ITI:IIIIII||II;TIIHIIIII;IIIIIIIIII;II||||II||;T|IIII||

w)|

-2 -1 0 1 2 3
TP n

Efficiency vs ¢

s 0.5
Y
>0.45

eff|C|ency
o
D

0.35
0.3
0.25
0.2
0.15
0.1
0.05]

S
....................... et TR
.......................
.......................
.......................

1.0

Ratio

| [T Tt




	Contents
	Page 1


